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. In AJKL, right angled at K,if tan] = > ,find sinjcosL + cosjsinL
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. In ACDE, right angled at D,if tanC = 2 ,find cosCcosE — sinCsinE
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. Find the length of the side of a 10-sided regular polygon inscribed in a circle of radius 1 m

(i) 0.6680 m (ii) 0.7180 m (iii)) 0.6180 m (iv) 0.5180 m

. Find the length of the chord of the unit circle subtending an angle of 136° at the centre

(i) 1.8544 (ii) 1.7544 (iii) 1.9044 (iv) 1.9544

. Find the area of the right angled triangle with hypotenuse 4 cm and one of the acute angle being 50°

(i) 3.9391 cm (ii) 5.9391 cm (iii) 4.9391cm (iv) 2.9391 cm

. Find the area of an isosceles triangle with base 4 cm and vertical angle 44°

(i) 8.9010 cm (ii) 11.9010 cm (iii) 10.9010 cm (iv) 9.9010 cm

S+T
. IfS, T and Uare the interior angles of a triangle, then sin(- 5 ) =

n
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